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Definite Integrals - Properties  
For questions 1 and 2 determine the value of the given integral given that ∫ 𝑓(𝑥)𝑑𝑥 =  −7116  and ∫ 𝑔(𝑥)𝑑𝑥 =  24116  

1. ∫ 9𝑓(𝑥)𝑑𝑥116  = 63 2. ∫ 6𝑔(𝑥) − 10𝑓(𝑥)𝑑𝑥116  = 214 

For questions 3 – 10 determine the value of the given integral given that ∫ 𝑓(𝑥)𝑑𝑥 =  −361 , ∫ 𝑓(𝑥)𝑑𝑥 =  8101 , ∫ 𝑔(𝑥)𝑑𝑥 =  461  and ∫ 𝑔(𝑥)𝑑𝑥 =  8106  

3. ∫ (2𝑓(𝑥) + 12𝑔(𝑥)) 𝑑𝑥6
1  

= –4  

4. ∫ 𝑔(𝑥)𝑑𝑥6
10  

= –8 

 5. ∫ 𝑔(𝑥)𝑑𝑥10
1  

= 12 

6. ∫ 𝑓(𝑥)𝑑𝑥10
10  

= 0 

7. ∫ 𝑓(𝑥)𝑑𝑥10
6  

= 11 

8. ∫ 𝑓(𝑥 − 4)𝑑𝑥10
5  

= –3 

9. ∫ (𝑔(𝑥) + 3)𝑑𝑥10
6  

= 20 

10. ∫ 3𝑔(𝑥 + 2)𝑑𝑥4
−1  

= 12 

Given that ∫ ℎ(𝑥)𝑑𝑥 =  −220  and ∫ ℎ(𝑥)𝑑𝑥 = 652  find the value of 

11. ∫ ℎ(𝑥)𝑑𝑥5
0  

= 4 

12. ∫ (ℎ(𝑥) + 2)𝑑𝑥5
2  

= 12 

Let f be a function such that ∫ 𝑓(𝑥)𝑑𝑥 = 1640  

13. Find the value of  ∫ 14 𝑓(𝑥)𝑑𝑥4
0  

= 4 

14. If  ∫ (𝑓(𝑥) + 𝑘)𝑑𝑥 = 284
0  

Find the value of k = 3 

15. 

 

= 0 
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